

# **INVITATION TO BID**

Bid Number :	Bid Name: Pavement Marking and Striping	
Bid Close Date:	Close Date: Bid Close Time: 2:00 P.M., CST	
Pre-Bid Meeting: None	Contact: Stephan Dueboay, Sr., Purchasing Agent 104 West Avenue E Midlothian, Texas 76065	
FOR THIS BID	Email: stephan.dueboay@midlothian.tx.us	
Insurance required? YES	<b>Phone:</b> 972-775-7106	
Bid bonds required? No	Fax: 972-775-7107	

# **CONTRACT**

# THE STATE OF TEXAS ) THE COUNTY OF ELLIS )

Know all men by these presents:

If this document is accepted by the City of Midlothian, the undersigned "vendor authorized agent" below agrees:

- 1. to perform all work in the City of Midlothian as per bid specifications attached hereto and made a part of for all purposes.
- 2. to be paid consideration by The City of Midlothian as set forth in the Bid tabulation, Exhibit "A", and Bid Specifications, Exhibit "B".
- 3. that any disputes will be resolved by a Court of Competent Jurisdiction in Ellis County, Texas.
- 4. to abide by all terms and conditions set forth in Exhibit "A".
- 5. to hold harmless the City from all costs or damages as to any claim that may be asserted against the City by any person or entity arising from the work to be performed by vendor, including reimbursement to the City of any reasonable and necessary attorney fees.

Acceptance of this bid by signature of the City Manager and the Authorized Agent Signature below will make this document a legally binding and fully executable contract between the City of Midlothian and the vendor below. In witness thereof, the parties to this contract and agreement have duly executed same as evidenced by their signatures affixed.

Mayor / City/Manager Signature

Date

Vendor Authorized Agent Signature

Date

Company Name and Address

Road Master Striping LCC
1301 SE McKenney

Rice TK 75155

Telephone Number: 903-326-4530

Fax Number: 903-326-4671

Company's authorized agent

DINO VAS QUEZ PRESIDENT

Name and Title (typed or printed)

Email Address: rozzana@Coadmasterstriping.com

# GENERAL SPECIFICATIONS

# **Pavement Marking Services**

#### Purpose:

The purpose of this bid solicitation is to secure an annual services agreement for installing and maintaining various types of pavement markings. The successful bidder shall provide all materials, equipment and labor necessary for layout, surface preparation and installation or removal of specified pavement marking applications.

#### Quality of Work:

All work shall be done in accordance with the City of Midlothian's Standard Construction Details and Items 666, 672, 677 and 678 contained within the Texas Department of Transportation's "Standard Specifications for Construction and Maintenance of Highways, Streets and Bridges," 2004 edition, as amended.

All markings shall meet the requirements of the most recent version of the Texas Manual on Uniform Traffic Control Devices (Texas MUTCD).

## Traffic Control:

All traffic control measures shall be in accordance with the most recent version of the Texas MUTCD. It shall be the contractor's responsibility to ensure that proper safety practices and procedures are in place at all times during the work, including but not limited to the use of proper signage, barricades, cones, and flaggers. In addition, all vehicular equipment utilized in the work shall be equipped with proper flashers/lights/strobes that must be in operation during the work.

#### Warranties

Markings that are not properly applied due to faulty application methods or being placed in the wrong position or alignment shall be removed and replaced by the contractor at their expense. All defective materials shall be removed and replaced at the contractor's expense. All replacement shall be completed by the contractor within 30 calendar days of receiving written notice from the City.

## Type of Pavement Marking Applications:

- Type I Marking Materials (Hot Applied Thermoplastic) w/ Type II Marking as Sealer (concrete roadway surfaces only) and Type III drop-on glass beads
- 2. Type II Marking Materials (Traffic Paint) w/ Type III drop-on glass beads
- 3. Raised Pavement Markers

# Pavement Marking and Marker Removal

Concrete Roadway Surfaces:

Type I Reflecti	ve Pavement Markings (100 mil) w/ Type II Sealer	Unit	Qty	Unit Price	Extended Price
& Type III Dro	p-On Glass Beads				
1.	4" solid white	LF	3,000	.75	2250.
	4" broken white -				•
2.	skips	LF	2,000	.75	1500.
3.	8" solid white	LF	1,000	1.50	1500.
4.	24" solid white	LF	400	7.50	3000.
5.	4" solid yellow	LF	5,000	175	3750.
6.	4" broken yellow	LF	1,500	, 75	1125.
7.	8" solid yellow	LF	500	1.50	750.
	White "ONLY" word				
8.	marking	EA	4	1450	580.
7,1	White direction			13500	580. 540.
9.	arrow	EA	4	750	540.
				Total:	111
				*	14,995

Asphalt Roadway Surfaces:

7 AUDITUTE TEURE	iway Surfaces:				
Type I Reflective Pavement Markings (100 mil) w/ Type III		Unit	Quantity	Unit Price	Extended Price
Drop-On Glass	s Beads				
1.	4" solid white	LF	3,000	.60	1800.
2.	4" broken white - skips	LF	2,000	. 40	1200.
3.	8" solid white	LF	1,000	1.20	1200.
4.	24" solid white	LF	400	6.00	2400.
5.	4" solid yellow	LF	5,000	.60	3000.
6.	4" broken yellow	LF	1,500	.60	900.
7.	8" solid yellow	LF	500	1.20	600.
8.	White "ONLY" word marking	EA	4	11000	440.
9.	White direction arrow	EA	4	100.00	400.
				Total:	11,940,-

Concrete and Asphalt Roadway Surfaces:

Туре І	I Reflective Pavement Markings:	Unit	Quantity	Unit Price	Extended Price
1.	4" solid white	LF	5,000	.40	2000.
2.	4" broken white - skips	LF	3,000	.40	1200.
3.	8" solid white	LF	1,500	.80	1200.
4.	24" solid white	LF	1,000	3.00	3000.
5.	4" solid yellow	LF	8,000	.40	3200.
6.	4" broken yellow	LF	2,500	40	1000.
7.	8" solid yellow	LF	1,000	.80	800.
8.	White "ONLY" word marking	EA	10	50.	500.
9.	White direction arrow	EA	10	45.	450.
				Total:	10200

Raised	d Pavement Markers:	Unit	Quantity	Unit Price	Extended Price
1.	Type II -A-A	EA	250	3,25	812.50
2.	Type II-C-R	EA	250	3,25	812.50
3.	Type II-B-B	EA	20	5.00	100.00
4.	Type W	EA	100	2.75	275.00
5.	Type Y	EA	100	2.75	275.00
				Total:	2,275.

Pavem	ent Marking and Marker Removal:	Unit	Quantity	Unit Price	Extended Price
1.	Eliminate 4" marking	LF	10,000	150	5,000.
2.	Eliminate 8" marking	LF	2,500	1.00	2500.
3.	Eliminate 24" marking	LF	1,000	3.00	3000,
4.	Eliminate word marking	EA	10	25.00	250.
5.	Eliminate direction arrow	EA	10	35.00	350.
				Total:	11,100.

## Notes:

- Quantities are approximate and may increase or decrease in the field. Payment will be based on final quantities determined by using the unit price bid.
- 2. Pricing to include mobilization and insurance.

# CITY OF MIDLOTHIAN

## COOPERATIVE PURCHASING FORM

## **BID NUMBER 2013-07**

Should other Government Entities decide to participate in this contract, would you, the Vendor, agree that all terms, conditions, specifications, and pricing would apply?

YesX	No
	onsible for another Governmental Entity's debts. Each
BY SIGNING BELOW YOU UNDERSTAND THAT COOPERATIVE PURCHASING GUIEDELINES A CONDITIONS.	
Company Name and Address	Company's Authorized Agent
Road Masser Striping LLC	Deno Vinere
1301 SE Mc Rinner	Signature  NINO //ASQUEZ
Rice TX 75155	Name and Title (Typed or Printed)
Federal ID Number (TIN)	President
or SSN and Name 41-2163160	
Telephone No. 903-326-4530	Date 5-16-13
Fax No. 903-326-4671	Email address: dv@ road masterstriping. com